

(Topic 6 continued...) For the remainder of this topic we will learn the theory of solving linearland order  $a_{2}(x)y'' + a_{1}(x)y' + a_{2}(x)y = b(x)$ on some interval I where  $\alpha_2(x), \alpha_1(x), \alpha_2(x), b(x)$ are all continuous on I and  $a_2(x) \neq 0$  on T. We will assume these conditions for the rest of the section.

 $|Fact |i| If f_{1}(x) and f_{2}(x)$ are two linearly independent Solutions to the homogeneous equation  $a_{2}(x)y'+a_{1}(x)y'+a_{0}(x)y=0$  [x] on I, then every solution to on I is of the form (\*) $\mathcal{Y}_{h} = c_{1}f_{1}(x) + c_{2}f_{2}(x)$ where ci, cz are constants. Fact 2: Suppose we can find a particular solution yp to  $\Omega_{z}(x)y'' + \alpha_{1}(x)y' + \alpha_{0}(x)y = b(x)$  (\*\*) on I. Then every solution to (\*\*) on I is of the form

 $y = c_1 f_1(x) + c_2 f_2(x) + y_p$ (Solution to homogeneous) equation EX'. Let's find all solutions to y'' - 7y' + 10y = 0 $n = (-\infty, \infty)$ , Consider $f_1(x) = e^{2x}$ next section we will see how to and

$$f_{2}(x) = e^{5x} \qquad \text{find these}$$
Last time we showed these  
functions are linearly independent  
on I.  
claim li f, solves  $y'' - 7y' + 10y = 0$   
We have  $f_{1}(x) = e^{2x}$ ,  $f_{1}'(x) = 2e^{2x}$ ,  
 $f_{1}''(x) = 4e^{2x}$ .  
Plugging in we get:  
 $f_{1}'' - 7f_{1}' + 10f_{1}$   
 $= 4e^{2x} - 7(2e^{2x}) + 10(e^{2x})$   
 $= (4 - 14 + 10)e^{2x} = 0$   
Claim 2:  $f_{2}$  solves  $y'' - 7y' + 10y = 0$   
We have  $f_{2}(x) = e^{5x}$ ,  $f_{2}'(x) = 5e^{5x}$ 

 $f_{z}'(\chi) = 25e^{\chi}.$ Plugging into the equation we get:  $f_2' - 7f_2' + lof_2$  $= 25e^{5\times} - 7(5e^{5\times}) + 10(e^{5\times})$  $= (25 - 35 + 10)e^{5x}$  $\equiv 0$ Thus,  $f_1(x) = e^{2x}$  and  $f_2(x) = e^{5x}$ are two linearly independent y'' - 7y' + (0y = 0) (= 0 homogeneous Solutions to So every solution to y'' - 7y' + (0y = 0of the form 15

 $y_{h} = c_{1}f_{1}(x) + c_{2}f_{2}(x)$  $\frac{h \circ m \circ geneous}{y_h = c_1 e^{2x} + c_2 e^{5x}}$ where ci, cz are any constants. What about  $y'' - 7y' + loy = 24e^{x}$  $On \quad I = (-\infty, \infty)$ Consider ] later we will learn how to find this  $y_p = 6e^x$ Particular Solution Let's show that yp solves

 $y' - 7y + loy = 24e^{x}$ We have  $y_p = 6e^x, y'_p = 6e^x, y''_p = 6e^x$ Plug it in to the left-side:  $y_p - 7y_p + 10y_p$  $= 6e^{x} - 7(6e^{x}) + 10(6e^{x})$  $= Z4e^{\times}$ Summary: Every solution to

 $y'' - 7y' + 10y = 24e^{x}$ on  $I = (-\infty, \infty)$  is of the form

 $y = y_h + y_p$ =  $c_1 e^{2x} + c_2 e^{-5x} + 6e^{x}$ 

general solution Yh to homogeneous y'' - 7y' + 10y = 0

particular solution yp to y"-7y+10y=24ex

 $\frac{Ex: Let's find all the solutions to$  $x'y''-4xy'+6y = \frac{1}{x}$  $On I=(0,\infty)$ 

Stepl: We need to solve the homogoneous equation x'y' - 4xy' + 6y = 0 (\*) Consider  $f_{1}(x) = x^{2}$ ,  $f_{2}(x) = x^{3}$ . Let's show f, and fz are linearly independent solutions + (\*).

Now we must verify that f, and fz solve the homogeneous equation. We have:  $f_{1} = x^{2}, f_{1}' = 2x, f_{1}'' = 2$  $f_2 = x^3$ ,  $f'_2 = 3x^2$ ,  $f''_2 = 6x$ Plug them individually into  $x^2y' - 4xy' + 6y = 0$ We get  $x^{2}f_{1}'' - 4xf_{1}' + 6f_{1}$  $= \chi^{2}(2) - 4\chi(2\chi) + 6(\chi^{2})$ = 0 $\frac{na}{x^{2}f_{z}'' - 4xf_{z}' + 6f_{z}}$ And

 $= \chi^{2}(6\chi) - 4\chi(3\chi^{2}) + 6(\chi^{3})$ = 0Thus, f, and fz are linearly indépendent solutions to the homogeneous equation  $\chi^2 y'' - 4\chi y' + 6y = 0$ Thus every solution is of the form  $y_{h} = c_{1} x^{2} + c_{2} x^{3}$  $c_1 f_1 + c_2 f_2$ where ci, cz are constants. a particular Step 2: We need solution yp to  $x^{2}y^{\prime\prime} - 4xy^{\prime} + 6y = \frac{1}{x}$ 

on 
$$I = (0, \infty)$$
  
Let's try  $y_{p} = \frac{1}{12} \times^{-1}$  Topic  
Let's plug it in.  
We have:  
 $y_{p} = \frac{1}{12} \times^{-1}$ ,  $y_{p}' = \frac{-1}{12} \times^{-2}$ ,  $y_{p}'' = \frac{z}{12} \times^{-3}$   
Plug into left-side:  
 $\chi^{2} y_{p}'' - 4 \times y_{p}' + 6 y_{p}$   
 $= \chi^{2} (\frac{1}{6} \times^{-3}) - 4 \times (\frac{-1}{12} \times^{-2}) + 6 (\frac{1}{12} \times^{-1})$   
 $= \frac{1}{6} \times^{-1} + \frac{1}{3} \times^{-1} + \frac{1}{2} \times^{-1}$   
 $= \chi^{-1} = \frac{1}{5}$   
So,  $y_{p} = \frac{1}{12} \times^{-1}$  Solves

 $x'y'' - 4xy' + 6y = \frac{1}{x}$ Thus, every solution to this equation is of the form

 $y = y_h + y_e$  $= C_{1} \times \frac{2}{4} C_{2} \times \frac{3}{12} + \frac{1}{12} \times \frac{1}{12}$ general solution particular particular solution yp to Yn to homogeneous  $x^{2}y' - 4xy + 6y = \frac{1}{x}$  $x^{2}y' - 4xy + 6y = 0$